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a+bi=c+di <= a=c b=d. (1.1)

(a+bi)+ (c+di) = (atc)+ (b d)i. (1.2)

(a+ bi)(c+ di) = ac + adi + bei + bdi* = (ac — bd) + (ad + be)i. (1.3)

a+ bz: _ (a+ bz:)(c — dz) _ (ac + bd) + (bc — ad)i _act+bd N bc — adi. (1.4)
c+di (c+di)(c—di) 2+ d? A+d> A+ d?
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21+ 22 =29+ 21, 2122 = 2221, (1.5)
(214 22) + 23 = 21 + (20 + 23), (2122)23 = 21(2223), (1.6)
(2’1 + 22)2’3 = 2123 + 2923. (17)
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000000 #00000a=rcosf,b=rsinfd 000 (r=12)000

z =r(cosf + isin6) (2.1)
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g 1
(cos By + isin b )(cos by + isinby) = cos(by + ) + isin(6y + 6), (2.2)
cos 61 + i sin 0, ..
= 6, — 0 0, — 6s). 2.3
cos 0y + i sin 6y cos(fh = 02) +isin(0r — 6) (23)
0000000000000000%
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" .= cosf +isiné, et = ¢*(cos b + i sin b) (2.4)
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|z122] = |21] - |22, arg(z122) = arg z; + arg 2, (2.5)
A= @, arg(ﬁ) = arg z; — arg 2 (2.6)
Z9 |22‘ z9
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D00000000000000000y =e® =cosz+isine 00000000 710000
r0000000y=f(2)00000000000000000Oy = f(z) = f.(z)+ifi(s)
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y = f'(z) = fl(z) +ifl(z /f dm—/fr dw—l—z/fl : (3.1)
OO0 k=a+0e 00000
y = M = 9T — 9% (cos by + i sin br) (3.2)
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J = ket (= hy) (33)
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